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Note : Attempt questions from both Sections as per 

instructions given.  

Section—A 

Note : Answer any two questions from this Section. 

20 each  

1. Consider the regression model of aggregate 

demand and supply. Aggregate demand for a 
commodity DQ  is related to its price P, income Y 

and population PoP by the equation : 

= β + β + β + β +D 1 2 3 4 DQ P Y PoP U   

The aggregate supply is given by : 

S 1 2 SQ P U= α + α +  
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In this model, DU  and SU  are independently 
distributed terms. Show that : 

(a) The estimate of 2α  will be inconsistent of 
ordinary least square (OLS) is used to 
estimate the supply equation.  

(b) A consistent estimate of 2α  will be 
obtained if the supply equation is fitted 
using instrumental variables (IV), using Y 
as an instrument.  

2. (a) Explain what heteroscedasticity is and 
why it is a problem. Outline two general 
tests that could be used to detect it.  

(b) Show how you would use the generalised 
least squares (GLS) approach to deal with 
heteroscedasticity.  

3. Explain the underlying ideas behind the Logit 
model. Explain on what grounds Logit model is 
an improvement over linear probability model.  

4. Consider the regression model : 
= β + β + β +1 2 2 3 3Y x x u  

where u follows N (0, 2σ ).  A sample of 25 was 
taken for the estimation of the model.  

(a) Explain the OLS method for estimating the 
parameters.  
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(b) Suppose you want to test the hypothesis 
that 2 3 0.β = β =  How will you test it ? 

(c) Explain how you would test the 
significance of 2β  and 3β  separately.  

Section—B 

Note : Answer any five questions from this  
Section. 12 each  

5. Explain the problem of multi-collinearity. 
Discuss three ways in which you would detect 
multi-collinearity.  

6. Explain the Koyck approach to distributed Lag 
models.  

7. What are measurement errors ? How are they 
different from specification errors ? What are 
the problems caused by measurement errors  
in : 

(a) dependent variables  

(b) explanatory variables  

8. Explain the Indirect Least Squares (ILS) 

method stating clearly its assumptions and 
properties.  
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9. Suppose you are given the relationship between 
expenditure and income for two time periods  
as : 

1 1 2 1 1E Y= α + α + ε  

= β + β + ε2 1 2 2 2E Y  

State how you would apply Chow test for 
structural stability between two time periods.   

10. Interpret the coefficient of determination, 2R .  

Bring out the difference between 2R  and 

adjusted 2R 2(R ) .  

11. Why are errors in cross-section studies unlikely 

to be serially correlated ? Give an example in 
which serial correlation will be present. 

12. How is a dynamic model different from partial 
adjustment model ? 

 Specify both models and explain the difference.  
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,e- ,- (vFkZ'kkÏ) (,e- bZ- lh-) 

l=kkar ijh{kk 

fnlEcj] 2020 
,e-bZ-lh-bZ--001 % vFkZfefrd izfof/;k¡ 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % nksuksa Hkkxksa ls funsZ'kkuqlkj iz'u gy dhft,A  

Hkkxµd 

uk sV % bl Hkkx ls fdUgha n k s iz'uksa dks gy dhft,A  

   izR;sd 20 

1- lexz ek¡x ,oa vkiwfrZ ds izrhixeu izfreku ij fopkj 

dhft,A ,d oLrq dh lexz ek¡x mldh dher P, 
vk; Y rFkk tula[;k PoP ls fuEuor~ lacaf/r gS % 

= β + β + β + β +D 1 2 3 4 DQ P Y PoP U  

lexz vkiwfrZ lehdj.k bl izdkj gS % 

S 1 2 SQ P U= α + α +  

izfreku esa DU vkSj SU  Lora=k :i ls forj.k in gSaA 

n'kkZb, fd % 
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(d)  ;fn vkiwfrZ iQyu ds vkadyu ds fy, lkekU; 

U;wure oxZ (OLS) fof/ dk iz;ksx fd;k x;k] 

rks 2α  dk vuqeku folaxr gksxkA 

([k)  2α  dk lqlaxr vuqeku ikus ds fy, Y dks ,d 

lgk;d pj ekurs gq, lgk;d pj (IV) fof/ 
dk mi;ksx djrs gq, vkiwfrZ iQyu dk vkdyu 

djuk gksxkA 

2- (d)  le>kb, fd fo"ke fopj.k'khyrk D;k gS vkSj 

;g ,d leL;k D;ksa cu tkrh gS\ bldk funku 

djus esa leFkZ nks ijh{k.kksa dh :ijs[kk crkb,A  

([k)  le>kb, fd fo"ke fopj.k'khyrk dh leL;k 

dk lek/ku djus ds fy, vki lkekU;hd`r 

U;wure oxZ (GLS) fof/ dk iz;ksx fdl izdkj 

djsaxsA 

3- ykSftV izfreku dk vk/kjHkwr fopkj le>kb,A O;k[;k 

dhft, fd fdl izdkj ykWftV izfreku jSf[kd 

laHkkO;rk izfreku ls csgrj gSA 

4- bl izrhixeu iQyu ij fopkj dhft, % 

= β + β + β +1 2 2 3 3Y x x u  
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tgk¡ u }kjk N (0, 2σ ) dk vuqlj.k gksrk gSA izfreku 

dk vkdyu djus ds fy, 25 bdkbZ dk ,d izfrn'kZ 

fy;k x;k gSA  

(d)  izkpyksa ds vkdyu dh OLS fof/ le>kb,A  

([k)  vki 2 3 0β = β =  dh iwoZ dYiuk dk ijh{k.k 
dSls djsaxs\ 

(x)  le>kb, fd vki 2β  rFkk 3β  ds egÙoksa dk 
i`Fkd~&i`Fkd~ ijh{k.k dSls djsaxsA 

Hkkxµ[k 

uk sV % bl Hkkx ls fdUgha ik ¡p iz'uksa dks gy dhft,A 

   izR;sd 12 

5- cgqjSf[kdrk dh leL;k dh O;k[;k dhft,A vki ftu 

fof/;ksa ls cgqjSf[kdrk dk irk yxk ldrs gSa] mu 

fof/;ksa ij ppkZ dhft,A  

6- forfjr foyacu izfrekukas ds izfr dks;d ds nf̀"Vdks.k 

dh O;k[;k dhft,A  

7- ekiu dh =kqfV;k¡ D;k gksrh gSa\ ;s fun'kZu dh =kqfV;ksa 

ls fdl izdkj fHkUu gksrh gaS\ buesa eku =kqfV;ksa ds 

dkj.k D;k leL;k,¡ iSnk gksrh gSa % 

(d)  fuHkZj pj esa  

([k)  Lora=k pj esa  
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8- bldh ekU;rkvksa vkSj vfHky{k.kksa dks Li"V :i ls 

crkrs gq, vizR;{k U;wure oxZ (ILS) fof/ dh 

O;k[;k dhft,A  

9- eku yhft, fd nks vof/;ksa ds fy, O;; rFkk vk; 

ds chp laca/ bl izdkj crk, x, gSa % 

1 1 2 1 1E Y= α + α + ε  

= β + β + ε2 1 2 2 2E Y  

bu nks fof/;ksa esa lajpukRed fLFkjrk dh tk¡p ds 

fy, vki ^pks* dh dlkSVh dk dSls iz;ksx djsaxs\ 

10- fu/kZj.k xq.kkad 2R  dh O;k[;k dhft,A 2R  rFkk 

leaftr 2R 2(R ) esa Hksn Li"V dhft,A  

11- fdl dkj.k ls leLFkSfrd vè;;uksa esa =kqfV inksa ds 

Lolglacaf/r gksus dh laHkkouk ugha gksrh\ ,d ,slk 

mnkgj.k crkb, tgk¡ Lolglaca/ mifLFkr gksxkA 

12- ,d xR;kRed izfreku fdl :i esa ,d vkaf'kd 

leatu izfreku ls fHkUu gksrk gS\ 

 nksuksa izfrekuksa dk fu:i.k dj muesa varj dh O;k[;k 

dhft,A  
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